2
3
1 | nylon | pAS Theee hole terminal | 23
4 1 | silicon | Black g |
4 s/s ST3*10 screw 21
5 1 PP | Black 1111 Waterproofhax | 20
1 PP | Black 1L Peprostie |
6 2 | silicon | Black Coll praaciee | 18
4 |cavanizedron M3*10 screw 17
1  [cavenized Iron) P4 Tooth pad 16
7 2 sis M4*8 Screw 18
1 |porcelain| L=140mm GU1D lamp holder 14
1 | VDE | L=100mm | cuimgune o 13
8 1 | Asigaivanized 8005-L Bottom bracket | 12
2 | ABS | L=100mm ®3 Huang Ia pipe 1
2 thickness 3mm 066 Gluss 10
4 | silicen 8004-L PC saaling ring | 9
1  auminum profilg 8005-L Lamp body 8
9 2 | sils | M4'8 screw 7
1 | Asigananized ﬁhﬂmm 6
1 PC | transparent |6004-LFc covER 5
1 | silicon | Black Medium ocll protector 4
10 2 | ADC12 6004-L lamp cover| 3
2  |Naralubber| &4 O-ing 2
4 M3*“35 sCrew 1
qantty material | Specification Name No.
s pancarazad Phass marier quarty |proporion | Yuyao Hangjia Electronics Co.,Ltd.
Ehacdng
audit B6007-L Explosion Drawing
process approval




